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	Calculate the mass moment of inertia about the x axis. The total mass of the object is 13 kg.

[image: image1.wmf]
a.

281 kg-cm2
[image: image2.wmf]
b.

210 kg-cm2
[image: image3.wmf]
c.

156 kg-cm2
[image: image4.wmf]
d.

233 kg-cm2
[image: image5.wmf]
e.

176 kg-cm2
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	The plate with two holes is made of steel with a density of 7800 kg-m3. The radius of each hole is 5 cm. Determine its mass moment of inertia about the z-axis.

[image: image7.wmf]
a.

0.723 kg-m2
[image: image8.wmf]
b.

0.854 kg-m2
[image: image9.wmf]
c.

0.638 kg-m2
[image: image10.wmf]
d.

0.902 kg-m2
[image: image11.wmf]
e.

1.040 kg-m2
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	Determine the mass moment of inertia about the y axis. The thin plate has a mass of 0.1 slug and thickness of 0.05 in.

[image: image13.wmf]
a.

0.0417 slug-in2
[image: image14.wmf]
b.

0.0589 slug-in2
[image: image15.wmf]
c.

0.117 slug-in2
[image: image16.wmf]
d.

0.0667 slug-in2
[image: image17.wmf]
e.

0.0333 slug-in2
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	A 50 lb door is supported as shown in the figure on 2 rollers A and B resting on a horizontal track. A constant force P = 10 lb is applied. What will be the velocity of the door 5 secs after starting from rest?

[image: image19.wmf]
a.

32.2 ft/s

[image: image20.wmf]
b.

18.5 ft/s

[image: image21.wmf]
c.

13.5 ft/s

[image: image22.wmf]
d.

28.7 ft/s

[image: image23.wmf]
e.

23.9 ft/s
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